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QUESTION 1

Tablespaces of certain types or in certain states can be renamed. Which four of these situations permit renaming a
tablespace? 

A. the SYSTEM tablespace 

B. the default permanent tablespace for the non-SYSTEM users 

C. an offline tablespace 

D. a temporary tablespace 

E. a read-only tablespace 

F. an undo tablespace 

Correct Answer: BDEF 

 

QUESTION 2

You have enabled backup optimization for the RMAN environment. Identify two criteria on which RMAN will skip the file,
if it has already been backed up. 

A. The data file backup is done with multiple channels 

B. The data files is in the read-write mode after being backed up in the read only mode 

C. The backup was taken after the data files was taken offline-normal or is in the read only mode 

D. The data file backup complies with the back retention policy and the backup duplexing feature 

Correct Answer: CD 

 

QUESTION 3

Which four resources can directives be specified by using the Oracle Resource Manager? 

A. CPU usage 

B. degree of parallelism 

C. number of open cursors 

D. number of sorts performed 

E. idle time for blocking sessions 

F. number of I/Os requests 

Correct Answer: ABEF 
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QUESTION 4

You executed the following command In Recovery Manager {RMAN): 

RMAN>REPORTNEEDBACKUPdays 3; 

What is the output of this command? 

A. a list of files that require a backup within three days 

B. a list of files requiring more than 3 days of archive logs to apply 

C. a list of files that RMAN recommends be backed up only once in every three days, based on low volatility 

D. a list of files for which a backup has already been performed in the last three days and which is required tobe backed
up again based on the high number of transactions performed on them 

Correct Answer: B 

 

QUESTION 5

UNDO__RETENTION is set to 1000 and retention is not guaranteed. You configure the database with a fixed size undo
tablespace. Which is true about undo retention in this configuration? 

A. Undo expires after 1000 seconds and is deleted. 

B. Inactive undo is retained for 1000 seconds even if new transactions fail due to lack of space in the undo tablespace. 

C. Inactive undo is retained for at least 1000 seconds if free undo space is available. 

D. Undo is retained in the UNDO tablespace for 1000 seconds, and then moved to the SYSAUX tablespace to provide
read consistency. 

Correct Answer: C 

 

QUESTION 6

You need to configure fine-grained access control to external network resources from within your database. You create
an access control list (ACL) using the DBMS_NETWORK_ACL_ADMIN package. 

Which statement is true regarding the ACL created? 

A. It is a list of remote database links stored in the XML file that are available to the users of the database. 

B. It is a list of users and network privileges stored in the XML file according to which a group of users canconnect to
one or more hosts. 

C. It is a list of users and network privileges stored in the data dictionary according to which a group of userscan
connect to one or more hosts. 

D. It is the list of the host names or the IP addresses stored in the data dictionary that can connect to yourdatabase
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through PL/SQL network utility packages such as UTL_TCP. 

Correct Answer: B 

 

QUESTION 7

View the following SQL statements: Transaction T1 

SQL> INSERT INTO hr.regions 2 VALUES (5,\\'Pole\\'); 3 COMMIT; 

Transaction T2 

SQL> UPDATE hr.regions 2 SET region_name=\\'Poles\\' 3 WHERE region_id = 5; 4 COMMIT; 

Transaction T3 

SQL> UPDATE hr.regions 2 SET region_name=\\'North and South Poles\\' 3 WHERE region_id = 5; 

You want to back out transaction T2. Which option would you use? 

A. It is possible, but transaction T3 also backs out. 

B. It is possible with the NOCASCADE_FORCE option. 

C. It is possible with the NONCONFLICT_ONLY option. 

D. It is not possible because it has conflicts with transaction T3. 

Correct Answer: B 

 

QUESTION 8

Given below are RMAN commands to enable backup optimization and set the retention policy: 

RMAN> CONFIGURE DEFAULT DEVICE TYPE TO sbt; 

RMAN> CONFIGURE BACKUP OPTIMIZATION ON; 

RMAN> CONFIGURE RETENTION POLICY TO REDUNDANCY 2; 

The USERS tablespace has never been backed up. You take the USERS tablespace offline on Monday. 

Viewthe Exhibit to examine the operations performed by using RMAN. 

Which two statements are true about the backup of the USERS tablespace? (Choose two.) 
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A. It will be backed up as a part of database backup on Friday. 

B. It will be backed up as a part of database backup on Tuesday. 

C. It will not be backed up as a part of database backup on Wednesday. 

D. The command on Sunday deletes the backup of the USERS tablespace taken on Tuesday. 

Correct Answer: BD 

 

QUESTION 9

To accomplish user-managed backup for the USERS tablespace, you issued the following command to put 

the tablespace in backup mode: 

SQL> ALTER TABLESPACE users BEGIN BACKUP; 

While copying the file to the backup destination a power outage caused the instance to terminate 

abnormally. 

Which statement is true about the next database startup and the userstablespace? 

A. The database will open, and the tablespace automatically comes out of the backup mode. 

B. The database will be mounted, and recovery must be performed on the USERS tablespace. 

C. The database will be mounted, and data files in the USERS tablespace must be taken out of the backup mode. 

D. The database will not be mounted, and you must restore all the data files for the USERS tablespace from the backup,
and perform recovery. 

Correct Answer: C 

 

QUESTION 10
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You want to create a consumer group, GROUP1, and you execute the following command in the command-line
interface: SQL> EXEC DBMS_RESOURCE_MANAGER.CREATE_CONSUMER_GROUP (CONSUMER_GROUP
=>\\'group1\\', COMMENT => \\'New Group\\'); This command errors out displaying the following message: ERROR at
line 1: ORA-29371: pending area is not active ORA-06512: at "SYS.DBMS_RMIN", line 115 ORA-06512: at
"SYS.DBMS_RESOURCE_MANAGER", line 108 ORA-06512: at line 1 What action would you take to overcome this
error? 

A. activate the Pending Area before creating the consumer group 

B. create the Pending Area before creating the consumer group 

C. increase the size of the database buffer cache to accommodate the Pending Area 

D. increase the size of the shared pool to accommodate the Pending Area 

E. increase the size of the large pool to accommodate the Pending Area 

Correct Answer: B 

 

QUESTION 11

You are using the control file to maintain information about the database backups that are being performed by Recovery
Manager (RMAN). 

Identify two scenarios in which you must have a recovery catalog. 

A. To store the backup information of multiple database 

B. To restrict the amount of space that is used by the backups 

C. To maintain a backup for a certain time is set by the CONTROL_FILE_RECORD_KEEP_TIME parameter. 

D. To list the data files that were in a target database at a given time by using the AT option of REPORTSCHEMA
command. 

Correct Answer: AD 

 

QUESTION 12

Which statement is true about a running session that belongs to the online transaction processing (OLTP) group? 
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A. It permanently switches to the low_group consumer group if the session exceeds 10,000 I/O requests or 2,500 MB of
data transfer. 

B. It performs the first 10000 I/O requests or 2,500 MB of data transfer in the LOW-GROUP consumer group, and then
switches to the original group. 

C. It switches to the LOW_GROUP consumer group if the session exceeds 10000 I/O requests or 2500 MB of data
transfer and returns to the original group after the operation. 

D. It switches to the LOW_GROUP consumer group if the session exceeds 10000 I/O requests or 2500 MB of data
transfer for queries, but not for data manipulation language (DML) operations. 

Correct Answer: C 

 

QUESTION 13

For which two database objects can the VERSIONS clause of the Flashback Versions Query be used? 

A. fixed tables 

B. heap tables 

C. external tables 

D. temporary tables 

E. Index-Organized Tables (IOTs) 

F. views 

Correct Answer: BE 

 

QUESTION 14
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Identify two options that Oracle recommends while configuring the backup and recovery environment for your recovery
catalog. (Choose two.) 

A. configuring control file autobackup to be ON 

B. backing up data filed only and not the archived redo log files 

C. running the recovery catalog database in NOARCHIVELOG mode. 

D. setting the retention policy to a REDUNDANCY value greater than 1 

E. backing up the recovery catalog to the same disk as that of the target database 

Correct Answer: AD 

 

QUESTION 15

Which two statements are correct about database transportation? (Choose two.) 

A. The source and target platforms must be the same 

B. Redo logs, control files and temp files are also transported 

C. The transported database must have the same database identifier (DBID) as the source database and cannot be
changed 

D. The COMPATIBLE parameter must be set to 10.0.0.0 or higher and the database must be opened in readonly mode
before being transported 

E. Recovery Manager (RMAN) is used to convert the necessary data files of the database if the target platform is
different and has different endian format 

Correct Answer: DE 
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